YeThIpe 3HAKa MOCJIe 3aIsATON, MOPSAIOK OTepaluii co
CKOOKaMu

(8+4-4,7)x2,8=

3,6 +2,1(5,4+5,5) =

6(6,2 +6,6)+2 =

(2,5-5,6)x4,7+2,9=

15(2,6 = 6,6) = 5 =

Jara: Orenka:

(2,8 -2,5)% 6,8+3,8=

4,5-4,7(4,4 +4)=

3,3+4,86,8—-6,7)=

6(3,6—5,8)+2=

(24+6-2,6)%6,2 =
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Nwms: Hara:_ Omenka:
8+4—-4,7)x2,8=-7.56 (2,8—2,5)x6,8+3,8=5.84

3,6 +2,1(5,4+5,5)= 2649 4,5-4,74,4+4)=-3498

6(6,2 +6,6)+2=384 3,3+4,8(6,8—6,7)=3.78
(2,5-5,6)x4,7+2,9=-11.67 6(3,6 —5,8)+2=-6.6

15(2,6 —6,6)+5=—12 (24+6—-2,6) x 6,2 =28.68
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